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SN EB -GS - MBAY - BES o e HRE2
23 1,291,636 1,079,137 212,499
Al 64,877
2l 1,226,759
B U e 1,270,652 1,062,649 208,003
AlHI 64,877
2l 1,205,775
a2l 37,718 47,432 £9,714
et o zarae 37,718 46,172 A8, 454
201 L2yl 20,620 29,654 ~9,034
01 AF=Raelt] 20,620 29,654 9,034
OZMA U REAB HT
25,0002 + 1005 %25 5,000
ONY - NIBZ 4O ASEETA M
35,0002 +50 1,750
OSHNBRA HOIHIRIH EHP
210,0002! * 1201 2,520
OSHHEX 7S 15,0002 122 180
OZMAMNI AL 70,0002 %22 x202 2,800
OX2# 6B 0I82 20,0002 %1021+ 122 2,400
OSSTTNA VYIS
200, 0002 23| 400
O=HIE Olg4+4g 210,0002 x23] 420
OLALHSIHEIHA) 24+
3,000,00024#1% 3,000
OSEBWREDN 22t 17,5002 * 10052 1,750
OSARISHKE DS SAEY
400,000 13l 400
202 Ofl 200 100 100
01 =LHoit] 200 100 100
ONYWBH BtSEe! 0fy|
20,0002 %12 102 200
203 ARFXY| 960 960 0
038 AMZZLLEY| 960 90 0
OZM LR 480,0002! 480
O=aR)| YeEx 480,0002 480
01 YuBAZ 15,933 15,458 480
09 ZDRARHI 15,938 15,458 480
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O3lH & A2 gREBx 15,938
= 88,0003 x5 «12& 5,280
- A 5,000 «222 x5 H 123 6,600
- WSHl 2,6003 x22L x5H x 122 3,432
- 28= 156,000 *3 468
- get= 74,000 x2H 148
=gl 5,000& x2H 10

= - SFMa 2tel 662,132 585,942 76,190
AlHI 64,877
-l 597,255

= - S ABZAF & 2tel 64,877 41,911 22,966
AlHI 64,877

101 el2H] 13,115 0 13,115
AlHI 13,115

10 JIZHNZ2Z2NSEx 13,115 0 13,115

O=FMat AL EX JI2EMZ2 2 X

13,115,000& 13,115
AlHI 13,115
201 eI 42,562 36,411 6,151
AlHI 42,562
01 AtE2teltl 42,562 36,411 6,151
ORLTA MEZA AIZA22T SA
2,500,000& 2,500
AlHI 2,500
O=RMM 5 L LHEIIL42
40,062,000& 40,062
AlHI 40,062
202 O4Hl 7,200 5,500 1,700
AlHI 7,200
01 SLHAHbI 7,200 5,500 1,700
O="Met AEHZ A (Y] 7,200,000& 7,200
AlHI 7,200
203 YREZY| 2,000 0 2,000
AlHI 2,000

03 AIMFIH2FAY| 2,000 0 2,000
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O=SMeE 2e| Al =& 2,000,000& 2,000
AlHI 2,000
TEEE BHMEE 14,633 15,821 A1,188
201 Lt 14,633 15,821 A1,188
02 23293l 14,633 15,821 21,188
OHESANEE Mas+ 9,584,000& 9,584
Ozdltha MBI (SZSul4)
5,049,000& 5,049
2EIY 23 582,622 528,210 54,412
201 Let3| 358,622 323,210 35,412
01 At 2eld] 10,900 9,850 1,050
O A2HAZ2F =4 9,800
cSTHA 2 28 7,000 #2410 «301x200 ! 8,400
- 25015 HA 7,000 141 %101 +200 1,400
OX@ ZXZA X KN (SHEES)
50,000& * 102l 500
Orzakz Sds 25,000 x20 = 12& 600
02 =294l 347,722 313,360 34,362
OXt= A 2,509
-HEsEX 460,000 «1CH 460
- =EEEX 320,000 =2CH 640
- HESEX 280,000 »2CH 560
-HESsEX 115,000& * 1 CH 115
- SAESEX 65,0002 »3CH 195
- SEEX 44,000 «1CH 44
=K==} 26,000 = 17CH 442
II2SESX 53,0002 = 1CH 53
OXNSAEEZ 16,890
-HEsEX 200,000 = 1CH 200
- =8EEX 200, 000& »2CH 400
- HESEX 250,000 »2CH 500
-HESsEX 300, 000& *1CH 300
- SESEX 250,000 = 1CH 250
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1,000, 000 *2CH
1,000,000% = 1CH
1,000, 000 *2CH
2,160,000 »1CH
952,000  1CH
1,000,000 »2CH
2,500, 000& »2CH
1,939,000& »2CH
1,000, 0003 »17CH
2,051,000 «16CH
1,040,000& = 1CH
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,306& *4,4602| & «2CH
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3,878
17,000
32,816
1,040
1,200
249,077
12,804
2,829
3,448
8,247
3,448
4,702
11,650
8,503
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SA D ERI(EH) - MEAY - BAS 0 &t g HDE2
EE=Ee T.306% -2, 96021 1+ 11 3,866
SEUTH 1,306 #2, 9602 £ 1T 3,866
OxHANH P22 4,100,002 %231 8,200
05 TH&HSH) 224,000 205,000 19,000
01 NNLEEFS] 224,000 205,000 19,000
Oxtzrne 224,000
ABBE(1E OE 16,000, 0002 *4CH 64,000
AHBE(HE) 20,000,000 #1TH 20,000
a2 (ss ©o) 70,000,002 2L 140,000
ARl 319,250 277,79 41,458
HMAE B 90,800 78,800 12,000
201 AlsbLe ) 90,800 78,800 12,000
T 30,800 78,800 12,000
OB W LEIINT Z) 3,500,0002! 3,500
o= BN T 1,300,0002! 1,300
Obswed| DH(22 B3 2A
5,000,000 5,000
OSR3Z YA DHMBA 10,000,008 10,000
O=B 24T THZA 30,000, 0002 30,000
OE Tbr2t DHBAI 7,500,0002! 7,500
OEB ASH USEY SETA
6.000,0002! 6.000
OSIBIASS B DHBAL 2,500,0002! 2,500
OMAIIZ T HHIZAI 5,000,000 5,000
OEEIIMA BIH O B D
20,000, 0002 20,000
NS - 24 220,512 193,724 26,788
01 er2ib 57,662 57,269 303
0 JIZNSZNE24 57,662 57,269 393
OFMEA JNAHIZT 57,662
ol 40,0785 +42 52402 38,475
=5 40,078%1 +42 x482! 7,695
oty 40,0788 42 x 122! 1,924
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= &l 5,000 x4 % x240 4,800
o=l 70,0003 x4H x 13| 280
st 23,0003 x4 Z *23| 184
=0H3ZEE 232 48,094,000 *4.5% 2,165
=228 2E3 48,094,000& *1.3% 626
MUMEE 2E3 48,094,000 *0.5% 241
20AALE 2D
48,094,000 *2.54% 1,222
CLEOIEDIRYE =
1,222,000& *4.05% 50
201 Let3| 155,090 130,695 24,395
01 AtR2teltl 30,950 27,236 3,714
O&Eax85 ¢ 500,000& = 12& 6,000
Ost&alzte] 14,424
st&X 433,000 128 5,196
- S| EER 7,000 220 = 12& 1,848
- HIIAEH 7,000 4501 =128 3,780
==X 25,0003 *128r A %12 3,600
O&HESAHA 2l 1,260
MERS 15,0002 *32+ 12 540
M 30,000& 20 12 720
O geid g2 n 1= 2
93,000& »2H 186
ORYea S2%
7,000 »2H 120 1,680
OEFMELEF=INE 3,800
- MA HIZE 200,000 200
F=IE M 30&*500& 20 122 3,600
Ousdzdi Lol =
300,000& =12& 3,600
02 2=2Z4l 124,140 103,459 20,681
OTEALLOHMEH 84
= e R el =Rl | 48,0002 13l 48
FIEdSotd2te 36,000& x13] 36
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O2d3a 34 150, 000 *6IH 2~ *23] 1,800
O&E HFA 8,800& x177.25m’ 1,560
OAYHEHES 500, 000& 23] 1,000
OAHSRA B 27,968
= 3,839 x4,321m 16,589
e 2,953& *3,410m 10,070
AEEE =X 2,953 & x443m' 1,309
Oz - 22828 RIE+ 5,000,000& 5,000
Ooga =M1 &0 old 1,000, 000 *2CH 2,000
Ost&EA =E2X Wil 120, 0003 *24 4 2,880
OFAMN RElEA 29 1,500, 000& *23] 3,000
OFA HIEE A 29 6,000,000& 13| 6,000
OFUAY HAAMNER 400,000& 128 4,800
Oosasggd S8 ¢
9403 *38. 32| E{ x8A| 2b+75L 21,602
O==a ¢ JIAUIIA 2L S8 7
9403 *4. 12| Ef *8A| 2t*75L 2,313
OB U - Ly TAJA Y
780&*16M *x8A| 2t*1352 13,479
Og& 2328 TAIIA 7Y
T80 ¥4 *BA| ZH5502 1,248
Og&Xsot 42z 2
Q40R +42| e *x8A| 2t+75Y 2,256
OFA StTHEE 0+ 3,000, 000& 3,000
O&EAMN SIMEREZ 1,300,000& *23] 2,600
OEM WERLREES 2,300,000& *12] 2,300
O& - dt=& = 1,000,000 x12& 12,000
OBANSEEINE MADE Jie
2,700,002 2,700
QusdIY AR X2+
200,000 * 123 2,400
QusdZY & -t = 150,000& * 123 1,800
OQuEddEl tMEEIHY 150,000& 150
QusdZY st L 200,000& *13] 200
307 glz2told 5,760 5,760
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CEEEEE 5,760 5,760 0
O24FstA s 22l 300,0008 * 128 3,600
Ogstael fsts22 180, 0008 * 128 2,160
405 THarE S| 2,000 0 2,000
01 AALSEFSH| 2,000 0 2,000
ORUAY 0012 P 2,000,000 *1CH 2,000
ABREERF 2L 7,940 5,270 2,670
201 LerE | 7,940 5,270 2,670
02 B3Il 7,940 5,270 2,670
O4 - st4E2 5,000,000 5,000
OFaE B2 190, 00084 190
SEEPIILEA= = 200,0008 200
Ost=Es2 150, 00084 150
ORoIAH 82442 200,0008 * 128 2,400
BHSAY 2 251,550 151,481 100,069
SaAE B 179,050 150,481 28,569
201 Lpre | 179,050 150,481 28,569
01 At222[H| 5,480 0 5,480
OFBSATH 228 7Y 5,480
Sl ARSI 100, 000! *5CH 500
-UTP 3012 120,000 #58+ A 600
- L-CORD 3HI01 = 50,0002 <42 200
- s=3012 45,0002 48 180
- UTP B2l 505 2,000,000 =23 4,000
02 IS 173,570 150,481 23,089
OSHR3 144,235
LpEs Y SUSAE (351255 4) 84,975
- UBIA 3 01 B E (7431 4)
45,0002 5743| ¢4+ 120 39,960
-0ISHEINAUR SF SaE
120, 0008 *303] & * 127K & 43,200
-MAHSHERANAY 0182
7,208 %215] M+ 122 1,815
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SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
- ME3H 018=(35283H) 12,924
- DATA(T1) 396, 1602 * 12| & 1204 & 4,754
- DATA(256k) 113, 170& *18| & *12& 1,359
-datg 21,830& *263| & 1200 & 6,811
-0lsSSAE(28601) 4,800
-JUHE Sz 65,0003 x4 = 12& 3,120
-ESA 0lER 70,0003 »2CH = 12& 1,680
- ZXHAIX (SMS) o182 700,000 * 123 8,400
- HUTVS= A Z (25390H) 1,816
-AoI2YS 3,850 x370H = 12& 1,710
-SERAYS 4,4003 201128 106
- HALE SIS = 78,000& 103 & 780
SHFBIEER 29|
2,545,000& x12& 30,540
OSHANE ]X - B+ 29,335
U SAEX 153,920,000 *1CH *5% 7,696
- H3HD| 40,0003 *500CH *5% 1,000
- SAESD] 1,000, 0003 *5CH *5% 250
- DEOSE ZX 29,650,000 *1CH*5% 1,483
-Elola S EY 30,000,000 *1CH *5% 1,500
S YHYSEL 30,000,000 = 1CH*5% 1,500
-0l HE 3D 739,000 *4CH *5% 148
- SSEH 1,903, 000 & #5241 *5% 476
- FUAZ 5,500,000 = 1CH*5% 275
- CXIEH 30| 300, 000& *30CH *5% 450
- SAAlE EHI 225,223,000 *5% 11,262
datESst=H AIAE 16,980, 000& *5% 849
- NS S Y AIAE(ARS) 4,493,5002 *5% 225
CAFEN ZAFEHI 24,402,000 *5% 1,221
-AFE™ ZALEH &
1,000,000 = 1CH 1,000
SHAE 2= 72,500 0 72,500
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401 AlZHIL2 O] 72,500 0 72,500
01 AlZH] 72,500 0 72,500
OLs HREMAM HHa 72,500
A SAHE DA 28,000,0002 28,000
SSTY L YSHZ DA
31,500,002 31,500
¥ B mb ] 40,0002 *150CH 6,000
CSMSAIAE DA 7,000,002 7,000
HHSSZU (HRD]) 20,984 16,488 4,496
o2y 4,200 3,408 792
ol 2yl 4,200 3,408 792
203 Y=Y 4,200 3,408 792
04 ENEIREAY| 4,200 3,408 792
ORAMS gL =AY 4,200,0002 4,200
Ol =2 16,784 13,080 3,704
=l 16,784 13,080 3,704
201 Ysr2gyl 16,284 13,080 3,204
01 A= ell 16,284 13,080 3,204
=Rt 8,640,000% 8,640
OJl2Y 48 32| 7,644,002 7,644
405 XarE S 500 0 500
01 HMUSEF=Y] 500 0 500

Ogdbld 2 500,000 =1CH 500




